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R.3.63 A father and his son can clean the house together in 5 hours. When the son works alone, it takes him
an hour longer to clean than 1t takes his dad alone Fmd how long it takes the son to clean alone
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M6 8.3.71 A sprinkler that sprays water in a circular motion is to
— be used to water a square garden. If the area of the
garden is 720 square feet, find the smallest whole
number radius that the sprinkler can be adjusted to so
that the entire garden is watered.

The smallest whole number radius is D feet.
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